1) Which one of the following equations is dimensionally correct?

a) V = a t                                   b) V = a2t                                            c) V= at2     

2) A particle position varies with time according to the expression: x = 2 t3 +3 t2 + t. The instantaneous acceleration of that particle at time 2s is

a) 30 m/s2                                                b) 37 m/s2                            c) 42 m /s2              
3) A stone fall   from rest and travel 5 m downward. The final velocity after travelling that distance equal to ….. (approximately)
a) – 20 m/s                                               b) – 40 m/s                                        c) - 10 m/s           

4) From the following diagram we have F2   =-40 N and F1 = -20 N. The approximate magnitude and direction of the net force is   
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a)  |F|= 25 N,   ø =1340                   b) |F|=36 N ,  ø = 3400        

                                  c) |F|=45 N, ø=2430 
